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QUESTION 1

Which of the following technologies is the main difference between an open DWDM system and an integrated DWDM
system? 

A. Wavelength conversion technology 

B. Optical amplification technology 

C. Multiplexing/Demultiplexing technology 

D. Optical supervisory technology 

Correct Answer: A 

 

QUESTION 2

The working mode of a port determines the flow control mode of the port. When the working mode is 100 Mbit/s full
duplex, which of the following flow control modes can be used? 

A. Auto-negotiation flow control mode 

B. Non-auto-negotiation flow control mode 

C. Both of the above 

D. None of the above 

Correct Answer: B 

 

QUESTION 3

Which of the following is the multiplexing mode of SDH? 

A. Flexible mapping 

B. Asynchronous multiplexing 

C. Flexible mapping and asynchronous multiplexing 

D. Flexible mapping and synchronous multiplexing 

Correct Answer: D 

 

QUESTION 4

The value of the MFAS byte increases with the sequence number of the OTUk/ODUk base frame, and a maximum of ( )
base frames are included. 
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A. 64 

B. 128 

C. 256 

D. 512 

Correct Answer: C 

 

QUESTION 5

Which of the following statements about the 1+1 protection of cross-connect boards are correct? (Multiple Choice) 

A. The source service board sends services to the active and standby cross-connect boards. 

B. After service cross-connections are completed, the active and standby cross-connect boards send the data of the
active cross-connect board to the sink service board. 

C. The sink service board can receive only the data from the active cross-connect board. 

D. The buses of the two cross-connect modules work independently and do not interfere with each other. 

E. The dual-bus system structure indicates that the service board performs dual feeding of data to the cross-connect
side and selective receiving of the data on the cross-connect side. 

F. Two cross-connect boards have the same configuartion. Service boards will selectively receive services from one of
them based on the quality of services and status of cross-connect boards. 

Correct Answer: ADEF 
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